Math 2153 — February 4, 2016 Full Name:

Quiz 2

1. (1 point) Give a concrete example of a vector-valued function r(t) = (z(t),y(t)) for which
r(t) is defined but not continuous for some value of t. You do NOT need to justify your
answer.
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2. (2 points) Consider the lines
r(t) = (2+t,3 — 4t, —2)

and
q(s) = (7+2s,1—2s,1+ )
(a) Show that the point P = (1,7, —2) belongs to both lines. e = _?
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(b) Find the equation of the line that is perpendicular to both lines r(t) and q(s) and
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3. (2 points) A ball Tolls of the edge of a table 1 m high with the speed of 2m/s. Fm
distance d from the table to where the ball lands.
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